FITH

=
e |

1 JAEYESU7 | AUTS 2| 5 7
2 | 1 |¥vUqyub =D 1 | & 5
3 FHI4FFE-I  |NliEEE | 57.2 B|B| 5| 3 5
N 8 EpFERIy AEXH 54.1 cCc|C| 6| 6 4
5 A—TFAb EHE— 53.7 C | C [pe—y 2
6 =Sy KEFR 53.4 B E (9| 7 3
7 |5 [¥U-=X FXA 51.8 E| E| 3| 2 1
8 = | § o | MEE= 49.1 E| E| 8| 9 10
e O-XJ3¥v—J)l |BFER 49.1 E | E |11 | 11 9
10 | 6 |(VaZAERHFYY |[{ELKRK 42.3 10 | 8 8
11 A3a—Fz |[/NRXRL 40.5 F| F | 7 |10 12
12 D4y Heh{E _ 12 | 12 11
NS

' 5 ¥420 £ 5-7-11 ¥9,710
5-11 ¥1,610 5-11-7 ¥36,230




N —

il

IATAIZAS—F |1. Eb Te— 3
F1—-FA H g 62.7 i, y
DY—pRY—-v- ERE— 61.2 BE | B | 2| 3 5
NI b s | 57.4 e 5 5| % | 4
by bFISOYE | AEXH 56.5 CERINEN 4 | 6 10
Ye—-wy— S B Bl 52.4 E|E| 9| 7 9
YI—EVI1 mUEE 51.7 E|E| 6| 4 2
NYXTPYT INRAA= 51.0 F | F |11 | 13 |
L b o | =HBZ 50.0 F| F |10 | 8 8

UM J KEZFR 49.3 F | F | 7 ¥
AFPIAAH— El&T 47.0 F | F |12 | 12 14
24 kL Sl 45.7 FF 15 | 10 6
L1 HIML—*— |HERLESE 14 12
14 P23y bAoA EAERX BUH
15 r{v—-19 ERE— 15 13
16 PSR ILEES 11 15

N

10 ¥440 HiE 4-8-10 ¥1,820
8-10 ¥1,740 E 10-8-4 ¥13,470




wia!
1 ]

]

1 | 1 |5M92933vk | IIRERE 2 | 3 5
2 FILNANITA—b  |[dERR— 1 | A 7
3 | 0 |FAIRNFT AEXH 55.7 c|Cc| 3| 4 2
4 AN T74h | EEE 54.5 ER. 9 7 8
5 NAS—-34E2Z | IBEHE 53.8 B C (4 | 2 4
6 | 6 |F91E1hA4¥— (1. EL 52.6 E|E| 5|5 1
7 IRLANYA— | EHEH 51.1 E| E| 8| 8 10
8 | 7 |[Za—-A-VU2X |HIBE® 51.0 E|E| 7| 6 3
9 239N fEaRX 46.2 F| E| 6 | 10 11
10 J-F4—-N\vE— |EHE— 44.8 FF 13 | 13 9
11 1UN-L INRAA= 41.7 FF 10| 11 12
12 o999 == 11 | 9 6
13 TJFA(=Z3> KEFR 12 | 12 13

N
6 ¥790 6-7-8 ¥12,790
6-8 ¥2,680 6-8-7 ¥55,100




L] | ] Ly L
. — HEY -

rE = = s e i =] == = '.'; L]

il
e |

1 FP=NYq97>  |##ELES 1|1 |@e |5
2 TU—FAM—A J. Eb 62.4 pr—— 3
3 T+ NAA | EEH 57.0 =] 5| 3 1
4 | 1 |IYAI—==3 C. LA 56.9 c|lc| 3|4 2
Eﬂ}b—i’?ﬂ?——f—z' IRHIRE 56.7 RN 4 | 5 | % | 6
6 | 7 |[N17-ILFLA 1] 2 = 53.2 E|E| 6| 6 4
7 BF/ fEaxX 48.1 E| E| 8| 7 10
8 | | |yzvrI7- A.v1 | 468 | F | F |10] 9 8

9 PENTILILZASD—- | SHEHE F | E 8
10 (FPNSv -t |EE#R— 11 11
11 a‘»rw:—.z. =1 12 9
12 BB D74 PY—-Ryb  [INRRAE 13 12
ki 4 EPEATi] REIES 10 13

N

' 13 ¥650 1-8-13 ¥1,970
1-13 ¥3,020 13-1-8 ¥21,950




[ITH

il

1 ThS C. JLA i 3
2 E-E-IJx—+ |#EILES 4| 6 y
3 p UV y Cre J. ¥ 60.4 B 1 | 3 6
4 U NNREA= 57.8 C Bl 7 | 7 5
5 SvF—VHN EaXX 57.6 EREEE 3 | 5 8
6 EOJIZZAUN |EFE— 57.6 Dl D 8|8 4
7 SZ10RN MR |IERE— 57.1 E|E | 6| 4 2
8 SyFHI> RHIgE 55.5 P 5 | 2 7
9 4‘-'}12*}' = 48.7 F | F |13 ]| 11 9
10 [ RSTAFOL—)L s | 472 | F | F | 12| 14 17
11 D54V ILEIES 45.3 F | F |10 | 12 10
12 BN 942I4-1- (kB3R | 447 | F | F |14 15 16
13 VA 1951 FLLTTS 11 | 10 14
14 =AY > A. ¥a 16 | 13 12
15 AOINFTATF LEHEE— 15 | 16 17
16 LAV MPSAY  |ERRN 17 | 17 18
17| oscs |zmEEE o | o 13
18 | 2 |9N\Ua- HIHE® 18 | 18 15

N
' 11 ¥1,730 LaFs 11-12-13 ¥4,240
11-12 ¥4,450 11-12-13 ¥32,050




FITH

1 g ] e B || B35 - ! 4
2 4904 HBERS 58.8 4 | 6 8
3 E-AEO0Jz4A4A |A. 21 57.6 B | B |3 |3 | % |3
a BENT-IvbYS-L |EHfiEt | 573 | B (B | 2 | 4 9
Eﬂﬁfaa'juhuzl: i 54.4 D | D| 6|5 2
6 | 5 |[ANHILIIY LTS | 496 | D | D | 7 HOH
7 [Elor271>51x |wir— | as0 | E | E| 8| 7 10
8 SILIN=) KEFR 47.3 E| E |11 | 10 5
9 | 6 [3UHTIL INRE{= | 44.6 E|F| 9| 8 7
EPYIYH AEXH F| F |10]| 9 6
12EZTNELT |3, Eb EREEN 5 | 2 1

PN I543-FUN- | HIEE® | F | F |12 11 11

8 ¥400 3-7-8 ¥3,710

7-8 ¥2,180 8-7-3 ¥15,550




E = R S BBias | E S = %= | O =
1| 5 [Z0LY> J. Eb 633 AAAAY 1 |1 | o | 4
2 NVAZRI-)L (RS | 624 [ A [A | 2 | 2 2
3 J0-3tE>bh |ERER 55.6 B | B | 3| 3 1
4 BAELR-U7 |Allx= 50.1 C N 7 | 7 5
5 W—Z18UrA |IRHIEE 49.5 D | D | 5| 4 9
6 V7S INRARAZ 47.9 B E | 92 | 9 6
o 1 [N =HEH 42.4 E|E| 4|5 3
8 523203 A> |(fEakK | 414 F|E| 6| 6 8
G FrOlEF >N IRE &N 37.6 F | G| 8 | 8 7
=S
8 ¥320 1-3-8 ¥2,320
3-8 ¥580 8-3-1 ¥8,690




1 aovhIs—4% HIE=_ i 3
2 TLAX C. LA 59.0 o y
3 | 5 |Vr—F-TIERX |ELAXKX 53.1 B | 5| 6 6
4 yr¥0o Hl1=:EE 49.1 ChEl 3 1 2
5 v INT | 47.2 D  D| 6|5 5
G #r)o0-Y-  |IRHEE | 45.7 D|D| | 4| 4 4
7 | 1 |91LLA ALLTTS, - ENEN 7 | 7 7

N
7 ¥260 25 3-6-7 ¥260
3-7 ¥300 7-3-6 ¥1,390




FITH

=
1

1 ML—>7Y-0 |(fE2KX B 1 3 3
2 s V) J. Eb 58.8 g ey 3 HUH
3 ALK NI B35 57.6 C Il 4 | 1 4
4 N1F7A17/— |IRHIEE 56.1 C | C ey
5 | 1 |A33Uv3vI SHEH 55.6 D |  D| 5|5 11
5 9352572744 |BEiiEtl 55.6 DN 6 | 2 | % | 5
7 | 7 |AF-HHLSMX |(HERS 53.9 DD 7 | 6 | % | 9
8 EERNFYF—V-A HEILES 51.4 E | E| 8| 7 8
E JS5F4FAZ) |==A 50.7 E|E| 9| 8 1
U AK-H18F4 |deiR— | 437 | F | F | 11| 10 10
¥4 alREL | 429 F|F |10 | 9 6
12 | 8 |UEL1 M- INRAAZ 41.6 FOF 12 | 11 12
EB'J*JJ—J"JL JliEigEs 3.7 F | F | 13 | 12 7
14 TN-Usr—4) |[fEEA | 301 | G 13 13
IhWRE
3 ¥3,360 3-5-11 ¥7,410
3-11 ¥6,780 3-11-5 ¥91,430




=
=

E z z = i = B Bis 4 - = == | S ME

1 LA babyh  (IRHIEE B | B | 1|1 T
2 JILA=N wLEs 60.0 C | C [y 2
3 AVULIFIAZ |BERiEl 59.8 e 4 | 3 9
4 SITATT > SHEH 58.4 e €| 5|6 | % |5
5 A HSA kEZFR 54.0 D| E| 9|13 10
6 m—=0714=ILF C. JLA 53.0 D 2 (| 2 13
7 FIRBALNI  [ELARK 52.5 E| E| 8 |10 13
8 [ 1 |NF»O974 AEXH 52.1 E|E| 6| 5 3
9 N=FINIUSTy |BHED 51.1 EEENN 7 | 7 | % | 12
10 ;”'”‘ J5097—-7h |HEES 47.9 E | E |14 | 14 7
11 IO F-IRIE AL 21 46.2 | F | F |16 9 15
12 | 9 |LwFJOJ2z3y— |ZEHBZ 44.6 F I F | 12| 8
13 FoNFAYS HIEE= 41.5 F | F |11 | 15 4
14 | 10 |1 A(ET> ATS | 40.9 F | F |10 12 14
15 FAPYITVAY INRAA= 40.8 F | F |13 | 16 8
16 NoTAH ILEES 15 | 11 16
N
7 ¥240 4-7-8 ¥4,610
=L 4-7 ¥1,110 7-4-8 ¥13,050




I
1

1l
yuin

1 ThTOLF C. LA g 2
2 LA A= 62.2 B B | 4| 3 T
3 N¥3IFY B35 61.2 B 5| 6 3
4 | 10 [HrJL—D J. b 60.7 C | € 2N 1
5| 1 |RYr2-l IRHIEE 60.0 cC|C| 3| 4| %]| 6
6 IS RDA LS 58.2 DID | 6 |5 4
7 Evds—H— ERE— 51.2 E|E |7 |7 | % |9
8 I*fifl‘:?:fﬂ— me=s | 492 | E | E| 8| 8 5
o M hYSUIZA-S FLILUFTS 48.0 E| E |14 | 16 11
10 [\ AoFIvvayl |®BE 46.9 F|E | 9| 9 10
11 SN AT AL ZHE" 45.8 F | F | 11| 11 14
12 [FUNAPRILYIR  |SEERH# | 449 | F | E | 13| 10 18
13 ':'—r‘;-r{?'bﬁ-zh WRAESE | 43.2 F | F |15 12 16
14 1‘1 FOYTATSA b |F=EA 426 | F | F | 12 | 17 8
15 [CL | XVBA/—b |&EEL 18 12
16 =I‘-'9JI€?13'°111 El&T 13 15
17 AN EX AL A ILEES 14 13
18 [CEN ZZN\0-4 EaXX 15 17

N
' 10 ¥380 HiE 10-14-15 ¥2,900
10-14 ¥820 E 10-14-15 ¥11,080




I
1

N —

1 €=V J. ¥ s | 1
2 ANLI-UA = 63.3 > | B 13
3| 9 [EVRFMPSAS |EHEH 60.8 B | B | 3| 4 6
4 GuAd1oAFT— |dERE— 58.6 ERlEN 4 | 5 | & | 11
5 =3 JAER mlRE 55.5 D| D | 5|6 3
6 V—331Z59=>4 |IRREBE 53.4 N 7 | 2 2
7 O—-FALT> HIEEZ 51.5 E| E| 6| 8 9
8 JEHOILE A. ¥1 51.2 E| E | 10| 9 12
E F040— IRERS 49.3 E| E| 8| 7 4
10 by krI3527— FEEl 43.5 F | F 12 14
maﬂmwmxh =t 43.5 F | F |12 | 13 10
12 b—RIFH > NNRX{Z | 43.4 F | F |14 | 15 8
13 EEN 7O R9—)  (EL2KRK 42.9 B 11 | 11 15
14 }'5—)"4. ZHE" 42.8 F | F | 13| 10 5
15 [0 947 KkEFR 14 7
16 |0 SyIHAY HEIES 16 16

N
6 ¥300 HiE 6-11-12 ¥2,040
6-11 ¥580 E 6-11-12 ¥7,390




